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1. There are 8 mango trees in a straight line. The distance between each mango
tree with other is 3 metres. What is the distance between the first and the eighth

tree?
A.24m B.21 m
C.30 m D.27m

8 mogmiseT @6y GBTCaT 1960 2 6iengl. @6alGeuT(h ISHBSHWD SenL Cuiujeiten
S 3 15 6Tedlle0 (LpHevTaUGHl LOBMID 61 LTeugH WFSHHMEG DewL Guiueien HmyLb?
A. 2418 B. 21 18 C. 30 18 D. 27 18

T 9ops = F x3 - &)W

2.1,4,6,9,11, 14, 16 next to 16 is
A.19 B.17
C.18 D. 16
1,4,6,9,11,14, 16 16 3@ UBE ameug
A.19 B.17 C.18 D. 16
% 6 9 0oy b

A U/ U ~
2 49 %2 X3 32 o 3

3. How many years will take certain amount to double at 8% interest per annum
at simple interest?
A. 13" years B.12Y2 years
C. 10%2 years D. 9% years
R OFHTews opegB@ 8%  Hefaully eipsHHed  DIHOHTEHMWIGLTE B
DL RISTHBG). 616fled TBHHIH OBTEEHID HTEVLD
A. 132 syemiBaber B. 12V syemiaber
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C. 102 oyemiBael D. 9% syemiBadsi
leb P 00 ——= Ac 0 ST(C

|0¢ = 00 ¥ N*&

4. Surface Area of a hemisphere is 2772 cm? then the total surface area of
hemisphere is
A. 4158 cm? B. 3172 cm?
C. 3882 cm? D. 4258 cm?
R  MICHTINSHFHT  auemenUyli] 2772 OF.0% elafled DewIBHTenSHHeT  GIoTSHS
ULyl wirgi?
A. 4158 Q.12 B. 3172 Q5.52
C. 3882 Q&.12 D. 4258 Q.12

C.$. A HQM&F&@»@ &WX&: AT
TS A —H,Qm{qﬁ\m“@ gim‘g: ?

977843 _ 1158 O
=) p 'S
5. Choose the correct option to complete the alphabet letter series _ ABA _CABC _
DCBA _BAB__ A
A. ABDCA B. BCADC

C. ABCDD D. CBDAA

CaThdbalILLL RS  6(pHH OFHTLT euflwgmws Heome Oguiub  griluwimest
alewLemwd CHTHOHHHBHALD.

__ABA__CABC_DCBA__BAB_A

A. ABDCA B. BCADC C. ABCDD D. CBDAA

_A_/AB/A@ C/‘P\BC‘_@/
< Revgrvee Ang
sesaf canforfr BT
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6. Choose the correct option to complete the alphabet letter series. AB_B, BC_C,

_AB_,AB_B
A. CCAAC B. CBABC
C. CACAC D. BCCAB

CaThSaUILULL SRS  6l(pSHH OFHTLT euflewgmwl Hewme OFuIubd  grflwmeo
alewLemw CHihoHHSH .

AB_B,BC_C,__AB_ ,AB_B

A. CCAAC B. CBABC C. CACAC D. BCCAB

B [Beh] [cae]n [pBc] B
ARS - CACAC

7. What should come in place of the question mark in the following series? 24, 536,
487,703, 678, ?
A.736 B. 842
C. 742 D. 836
esteu(mid 616wt OHTLMled Cpeiialld GHUILL @)L SFH60 auyGalcwngul erewt 61g)7
24, 536, 487,703, 678,?
A.736 B. 842 C.742 D. 836

2 526 48 763 678 )
. 1 J 1 |
4518 L9 T AN CR AN

] G [Eeﬁ () L[]

Ars o FL2
8. Sum to n terms of an Arithmetic progression is 2n? + n then eighth term is
A. 136 B. 36
C.131 D. 31
R (g OaTLT auflwsuier n o miiselear gwmbBHev 212 + 1 elefled ©IHeT 6T LMD
2 mI' 61g!?
A. 136 B. 36 C. 131 D. 31
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Lot Lask trewn (8Thdeeed) — /Q

2 .
Eia?\l* e S = & C8) 48 =~ 126,

2
Q - g (v + 1< 2.
[5* forem SAA X___jO«':S’

97\ - %[O\"‘FD - '%()

5 L
a+9: Ef’;S(F

G
rﬂ: .- 3=-3) J

9. A fraction is such that if the numerator is multiplied by 2 and the denominator

is reduced by 4 we get ?, but if the numerator is increased by 6 and the
denominator is doubled we get % what is the fraction? 14
AL B.2 c 2 D.

5 7 17 21
 Uaiaiddlar 0aT@HHemwl 2 9ie0 Oumsbaund u@GHuledmbas 4 0m& GmBHBHTE0

SlemLSHHL6LMID  Leirerd %%@ma’) 9168 Ueaiennsdler CHTGHHUL a1 6-186 &l lg,

UGSHenwl B(H DL RISTEH ML  HlenL SaLGUmID  Leiend i—imo‘ﬂa’) OIb%  Lleiterd

616016017
AL B. 2 2 D
5 7 17 21
Llooro  Ophior '
sx® [s
T-5 2
s+ 0 O Ans-. 5
F AR |y B
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10.A boy cut a sector containing an angle of 140° from a circle of radius 15 cm and
he folded the sector into a cone. What is the curved surface area of the cone

-2

A.572sq. cm B. 527 sq. cm
C. 275 sq.cm D. 257 sq. cm
15 Q.18 opapeten @@ el LSHHeNmbaH 140°  enowisGoTenid OEHTem @b
AL &CHTewIl UGHdW @ omewielel  Ceul 9euWBSHH DB  DLTHIGHEND6N

QBMIHBHI (hH FnlDUTHEHINTED, SHleDLH@GHID FnlDLI6T GUEN6ITLITLIL] 6T6d160T (”:27_2)‘)

A.572 5.65.8 B. 527 5.05.6
C. 275 5.05.18 D. 257 5.05.0f

A sector of a circle I=vh*+ P~
converted into a Cone : PR
> r=vEF-n
CSA of a cone=Area of the sector o
9 \ X ,
xrl = X Xr
360 /,}\

Length of the = Base circumference -
sector of the cone

Qunved  SWefocs 0
Arvea O.gj Seckeoy - A ~rea of cone <= MY

a %T\\(\(g) = Lo Ve %3 L1515

— -
— —

360 360 7
= F ox 2B L i5x'
\8 +

Q
= QF5

11.1f radii of two cylinders are in the ratio 5 : 3 and their heights are in the ratio 3 :
5 then ratio of their volumes is
A.5:5 B.3:3
C.9:25 D. 5:3
Brewih o (hewendbeiladl SImIBeier aldad 5 : 3 e SeuBsler 2 WiFniber e
aldpb 3:5 aeviad LT DeuBBleT HeT SieNa|dHerieT aldHD 6l6oTer?
A.5:5 B.3:3 C.9:25 D.5:3
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}P\L”@)& N | i }7@‘% &\\32

= 25%% 4 ®5

= Y .3

12.A school boy walks from his house to school at the rate of 4 kmph. He reaches
the school 20 minutes earlier than the schedule time. If he walks at the rate of 3
kmph, he reaches the school 20 minutes late. What is the distance of the school
from his house?

A. 12 km 480 km . 21 km 8 km
@ Uelell oTewieuest Heidl il 19e0(hhd Lieeldbdnl SHME& 4 .15 / wewll 616m
Boumsdglev BLbHH OFamTed GUUILL CrriHamE 20 B mseEndhE (WperuTsEe
QFsIBenL Hmret. Saleigk Gausld 3 &S /  wewl e@MSHHITD 20 B BidHel
SHTOFHOTE  CFSIBevLaUTe 6l6fled afl 19e0BheH UeiTeld gl SHHBEG 2 6ien HAJLD
QRIBINIEIY

A. 12 &if B. 480 &.i6 C. 21 &b D. 8 &l

Distoce = &) X8, Diffrsen in T

& - % 60
I SR Y |
l bo 3
- g kM
13.1f LB 1 74 % _) the values of x and y are
2(2x+3y) T7(3x-2y) 2 2x+3y 3x-2y
respectively
A.2,1 B.1,2 C-1,-2 D.-2,1
1 12 I 7 4 . . . .
202x+3y) TGx—2y) 2 PO 2x+3y+3x—2y_2mﬂm Xy Bl (pepEin
A.2,1 B.1,2 C.-1,-2 D.-2,1
Qubahitake  fvom opHon. oo Yo
Ang A
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14.The radii of two right circular cylinders are in the ratio 4:3 and their heights are
in the ratio 7 : 4 then the ratio of their curved surface areas is in the ratio
A.3:5 B.5:3

C.37 D.7:3

@renih  GCwTeu’ L o (hewendeia Sumibener aldlad 4 : 3 Guwsoid Sieumneir
o wymiseler al&sd 7 : 4 eelled DleuBple eueneTUTLILHeie alldlHd

A.3:5 B.5:3 C.3:7 D.7:3

&ﬁm\l ‘“; ; &'X\%@g ‘(\2

e d o 8xX K

15.A wall is to be constructed with length 60 m, breadth 3 m and height 5 m. How
many bricks are required to construct a wall with length 30 cm, breadth 15 cm

and height 20 cm?
A.1,50,000 B. 1,25,000
C. 1,00,000 D. 1,75,000

pend 6015 o@evld 3 15 o wgdb 5 15 2 emLuwl &GeuT eraplil membd 30 Cm @Hevid
15cm o wgib 20cm o enlul QFmsBHeT e1hHHmen Chemel?

A.1,50,000 B. 1,25,000 C. 1,00,000 D. 1,75,000

[5000 ch oL 300 C XK Boo0

30 M K |B an x A0 M

= ), 00,006 baicks .

16.The ratio of boys and girls in a class 4 : 5 if the number of boys is 24, find the
number of girls
A.20 B.19

C.16 D. 30
QUH UGLILIEL o 6T LoTewiaue WBMID Tewialseiear alfsHbd 4 : 5 elel 2 66Nl
LOT60TEUGM60T  6T6U0T6RN 6N 24 6160160 LOTEITOH6V6H 6160016001 H6ND 61611666 ?

A. 20 B. 19 C.16 D. 30
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T
Bow Lo unib = QY JNN*:%)

Cude B Wb = s g0 Frsls -

17.How many prime numbers lies between 1 to 100

A. 26 B. 25

C.24 D. 20

1@ 1005GD el Cul SIMLIDHSIGTEN LIST 6160IH6NT6 6160016001 HND 61611616167
A. 26 B. 25 C.24 D. 20

LYo fee = A5 pana Nombes .

A, 3 6/ - W, \’3/ W%/ H/ 3, &C\/ 3‘/
L, B, 5, 61 6F) T,
13, T, Sk 89, ﬂ}j

18.The value of +/0.015625 is

A. 0.05 B. 0.25

C.0.5 D.25

0015625 ait &Ly

A. 0.05 B. 0.25 C.0.5 D.25

3 . I
15625
! [ 6000GG

|
ag\

-2 s _ 5 .05
TQ? \o
19.Median of 12,17, 5, 8,13, 6, 9 is
A.8 B.9
C.12 D.17
12,17,5, 8,13, 6,9 a3 afleuymiseien @Senl BHlened oi6a)]
A.8 B.9 C. 12 D.17
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5 & § @ 13,13

) / / / /

IN\QCSUOX\ :‘C)’J

20.Raju starts walking towards south. After walking 20 m he turns towards North
and Walks 8 m. Again he turns towards East and walks 5 m. How far and in
which direction is he from his starting point.
A. 15 m, South B. 17 m, North-West
C.7 m, East D. 13 m, South-East
greg®  eigileuT OeBE GCrrédd BLSBHSH CHTLRIGSHDBTT. 2015 SHNJD BLHS DleuT
ALHG Cprdha HmbLl 8 15 D HLSSBIT. LGILQUD SHipdE Cpreadl Sl 5
15 SMJID HLSHHMIT 6Tefled, SIIDL B SHHV(HHSHI 6lelalene] HIJLD 6lhHdH HengFuled
ST SmHrmt?

A. 15 18 GOame B. 1718 eu_Guopa
C. 718 Hipd@ D. 1318 OsaidipdE,
Farst
TN
N 2 Q
2 &QW\\A]\ %= le} ’V‘O:)) - L o
500
iAV\Si Q
gho
21.The sides of 14 Square's are 11 cm, 12 cm, 13 cm,.......... 24 cm, then find the
total area of 14 squares.
A. 3515 cm? B. 4515 cm?
C. 2115cm? D. 3215 cm?
11 Q&ub, 1205185, 13 Gg5 .... 24 Q515 HwaeuBedB (WeopGu LHS
DN H6NMTHS OBTewIL 14 FHITEISTET GOTHSHU UTLIL] HT6NIH.
A. 3515 GQF.52 B. 4515 GQ&.5?
C. 2115 Qg2 D. 3215 GQ&.u5?
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(\’i

forca of _Sqpee = .
Q.
Gy Gy 5 (O e O

a2 8
:) [\&Jr%laJrB&)%--‘ +(&L‘r)§} - D&+® +3 oeA00)

Es

= 9 Iy %RH 4D lox I\ %]
. - 6
—> 900 _ 385 Forraulo
NCn ) (300

)

-p) L Bis S

22.A Train travelled a certain distance at a uniform speed. If the train had been 7

km/hr faster, it would have taken 14 hours less than the scheduled time. If the
train were slower by 3 km/hr then it would have taken 10 hours more than the

scheduled time. Find the distance covered by the train.

A. 600 Km B. 700 Km

C. 800 Km D. 900 Km

Fymenr CousdhHed @b GBUILL SHMIHms @@ OHTLT euewiy GBI L  GBrdHdled
&LbHHGH. OFHTLT euewiiguilest Geousld wewidh@ 7 &b 66l DIHHNHBILLQ(HHSHT60
DHIHMTHMSH SLSd UL 19mbs CrrHmsd ol 14 wwewl GCHID GmBAITS
DIHOHTLIT 6auewig 6IhSHHdH CBTamigHHGD. OHTLT euewrguier Geusld ewlldE@ 3
&8 el GHMBSBLILULHHDTL, DCH SHMTHMHS &HLHS GBI LU IQHbHS
CrrHemd ol 10 wewl Grryb DHSMNHH(HBGWD 6T6lled LU HTTHMSH Hewi(BLIY.
A. 600 &5 B. 700 &.6 C. 800 &1 D. 900 &1
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d __é__:_( -0 i~._q\_:‘0—@
B 3
d[543-A_\y afx- )
o (X A7) Cx ~D
= 7d - Gx (XD gde tox(T-3)
d - ax (XD 4o 10x(x-3)

as (KA 10 (-3

QA4 Q) ~ XD

7 2N 2k

1

fl - \ngMP%

« J |

23.Spherical metal ball of radius 6 cm is melted and casted into small spherical
balls having diameter 6 mm. How many small balls can be casted
A. 8000 B. 1000

C. 6000 D. 2000

6 Q.15 gupeiten Gameneuger o Geondd Gewilh 2 (HeSSUILULEH 6 0.6 @il L (peiTern
Flw  Gamemaugen  GHeWIBHNTS  UTTEHSUILLLTED  eIdHHemer Fplw  Csmerneugen
GWIBH6IT BHlewl_d@GW?

A. 8000 B. 1000 C. 6000 D. 2000
4 3 Q- bew = bomm
— TR L,Q D ()0 "~ @)Q _
3 . N2 2mm
_ '> 2 ® 3 %8
.L_t TV\fg §000 gwamf EC\U“(‘ "
>

3
= (207 =
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24.The radii of two circular ends of a frustum shaped bucket are 15 cm and 8 cm. If

its depth is 22 63 cm, find the capacity of the bucket in litres (Take (7[ = %))

A. 2.6994 litres B. 26.994 litres

C. 269.94 litres D. 26994 litres
QH DwLHH6wIL  augaleoTer euTeMulest GoBUm OBBID DIQLILB HIHIS6T (LPenBEU
150515 1oBmpid 8 &5 Gued oupb 63 F.15 eeiled, DiHeT OFHTeiTeneTenal

el _Lifley asrrmir&e(;r = g) )

A. 26994 9L Lir B. 26.994 &9 Lir
C.269.94 o&ULT D. 26994 &0 Lir

) p= ~
2% 403 [ Bas pby 4+ 120
33

~ Q&% K K09
2699y Cr
9ty I

K
| (o 1000 (W

25.The present age of A and B are in the ratio 4 : 5 and after five years they will be
in the ratio 5 : 6 then their sum of present age is
A. 55 years B. 45 years
C. 35 years D. 25 years
A, B aauaiaeiear sBuTdsdl auuighl aldsd 4 : 5. 5 auBLBISEHSEG LIBG
SlalTHafer auwg 5 : 6 ereled, Gmeuflar HBOUTMHUI UL FnHFHe0

A. 55 augpLmisbeit B. 45 au@mLmisbei
C. 35 au@mLmismel D. 25 eu@pLmisbelt
A B
Now 4 6
\ Y
A B 5

ﬁ UV\‘\:F: § %ﬁj

A+B - quntt  qun o 45 YO
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xX2+2x+1-7<x<-5

26.A function f:[-7,6]= R ig defined as follows /() =1x+5 -5<x<2 what is
x—1 2<x<6

41 (=3)-2/(4) »

f(6)=4f()

A2 B. . C.2 D. L
7 2 2

gy f:[-7,6]= R SHpSHHeWIL_ T eUedJUIBISHLILL (HoTerngl
xX2+2x+1-7<x<-5

the value of

f(x)=4x+5 —5<x<2 elefed 4f(_63)_jf(14) -68T LDAIL|  6T60T60T?
x—1 2<x<6 J6)=4f ()
A2 B. L C.2 D L
7 2 2

F-F) = X 45 - 3 452 Q.
f6) o DC&% AR 4] = 26— b - 30

?C() = X+ B = 15 = 6.

= (&) - 202 - &8 6 4

15 — 4 Ce) 5 -2

27 Mala and Latha each had a number of bangles. Mala said to Latha "If you give

me 4 of your bangles, my number will be thrice yours". Latha replied "If you
give me 36, my number will be thrice yours". What is the total bangles together
with them?

A.70 B. 80

C.90 D. 100

omeuTallL_(Ip1d, 60SHTAIL(IPID  UEMETUIEVH6T 2 _6iTeN&. “[h  6160IhE 4 6UMETUIEOHM6TS
SHHFHTL 61T LD © 66 6U6M6ITUIGOSH6IT6  6T6uT60NHend 2 6l D 2 6iTeengdll Gumed
CLPGITM  LOLMBI@G 61601  LOT6VT, 6UHTAILLD dnpledlmell. [5 6le0ld@ 36  6UM6ITUIOHM6TTS
SHHPHTL 61T LD © 66 6)6M6ITUIGVSH6IT6I  6T600T60NHNS 2 6l D 2 6iTeensdll Gumen
CLPSITMl LD BISTGD”  61el  60HT  LFHevelldHTT elerfled meufl(pid  CFibg  GomgSId
® 66 6UEM6ITUIGVSH6IT6  6T6WT6MIHeND 6161161161167
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A.70 B. 80

C. 90 D. 100 |
W= 3(L — 1) T (Y »—%@)@
MAL = 3L 1R L4 3b- M-t -
Moo 2L - L 436~ 3 (3L —\6)~
o g2k o L -wE¥- 108
ey
et - aa [L=2% ]
= :}gl — 1b pn 5(9 ’

N =
‘To‘v(@ _ whky2b= 5O

28.A man can do a work in 3 days alone and a women can do the same work in 9
days alone. If both are work together in how many days they finished the same
work.

A. % days B. 6 days C. Z%days D. 3% days

Qb el @ Geumevenwl Helluimeds 3 BHIL&6eT60 (WiplimT. 8% Geusmevenul a(H
Ouewt Hellwnad 9 HILSeMed wlmT. I8 Geaumevenu! EHaUHLD EeMewihHl
TSHSHME BT BH6I60  (LIQLILITTEH6IT?

A. % [BTL_&B6IT B. 6 B &6l C. 2%rj,m’_as6ﬁ D. 3% [BTL &6l
AXB
- 2% -4 -2 s cﬂcu%
A+B (2 Ly H

29.Work in a fort 300 men had provisions for 90 days after 20 days 50 men left the
fort. How long would the food last at the same rate?
A. 160 days B. 210 days

C. 84 days D. 80 days

@ GamemLuled Geuewev LTTHGID 300 WaNHTHEHEHESG 90 BT HEHHEG CHeneuuimet
o 6wie] OUT(HET 2 _6iTeNg|. 20 pILsEpsE Umg 50 Gunt Ogeim el L ed.
LB&H(Lp6iTeN ©_6u016) 615HHMeN BT HEHEE 6I(HLD?

A. 160 pmisen  B.210 mriser  C. 84 Bl el D. 80 ml el
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20 Man  —35 o dwjd Qo 26 =Fa d@gf
grq M — ]

= 290010 gy dayp.

AKa
30.Simplity:
Y729 -3/27 + 316
3512 +3/343 — 4/256
N . 10 c. 2 p. 12
10 11 10 11
G(HSHGHP :
Y729 -327 +316
3512 +3/343 —4/256
AL . 10 c. 2 D. 12
10 11 10 11
4 — 3 + b 1O
5 + -4 | !
. e X+3 3x+9
31.Simplify: N TSV
. 1 B. 3x+1 C. 3x-3 D. 1
3x+1 3x-3
NP ><+3+ 3x+9
GO =1 x*+x+1
. 1 B. 3x+1 C.3x-3 D. 1
3x+1 3x-3
(x A2 " <DQ&7\/’)Q+\) o
T 3% -3
(c 4)(3(&%9(/—%\) g Cj§/+3>

32.Sasi purchased a house for ¥ 27,75,000 and spent ¥ 2,25,000 on its interior
decoration. He sold the house to make a profit of 40%. What is the selling price
of the house?
A.¥31,20,000 B. ¥36,00,000
C. ¥42,00,000 D.¥ 48,00,000
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gfl  @m eftewm. I 27,75000-@ « ecmmdemt. ey o I LBhibemer

X 2,25,000-68 o106ubdd omad 40% SeomusaHnE alBprT eealsd ibd afl g6
alBuemen allenev 616316017

A.X 31,20,000 B.X 36,00,000 C.X 42,00,000 D.X 48,00,000

5 000
c-p. of Hovse = &

—

—

%\'}/ ?%/C)OG_P &/
3 00,00
/

: - F Ve
S.p = \ Lo o 8,00,000 = 1R 00,0

|00

33.Simplify : (1350+15-5)+(47.5-15x2.5)

A. 85 B. 10.5 C.10 D. 8.5
G(HHBGHS : (1350+15-5)+(47.5-15%x2.5)
A.85 B. 10.5 C.10 D. 8.5
12 60 _ﬂ kS ( .15 - (5%XQ5) -
: 5 -
qO*‘B ~ 8 6 _ 8 ‘6
BB - 335 o

. . . . . . . 111 .
34.a, b, c are said to be in Harmonic Progression if their reciprocals —pe arein
C

Arithmetic progression. What would be the value of x for which 3, x, 6 are in
Harmonic Progression.

A. 41 B.4 C.5 D. 5%
a, b, c B cHSIIBI GTWIHeT BMFH CBHTLM6L DIMOHA [hbD DIUBPBIEH  HEN6VBSLIBH6IT
111

,—,— opBPwer gl BdH OHTLMe0L SwbHHHES GauewiBd. Xx-601 6hd LAHIIBG 3,
c

a’b
X, 6 g Bamgd OHTLAlsd Dlemioub?
A. 41 B. 4 C.5 D. 51
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¢ o, b, C axe m Howonic

L. QG g 2 %b L
a+C 7 q
P& NS 47
35.Value of \/3-\/3-\/3-\/7
B. infinity C.0 D. {3
\/3 3 -631 DAL
B. appaied C.0 D. {3
N Tn =

36.Introducing a girl, Raj said, "Her mother is the only daughter of my mother-in-
law". How is Raj related to the girl?
A. Uncle B. Father C. Brother D. Husband
Q(H OLIETEN6NT JTEY 6IaILIT “SlaUEhenL Ul DIDOT 6lenigl OTOWTHES Gy el
o160l DIBI(PSLILBHSHHIBBIT 6T6alled ILIGILIGTIENIBE JTey 6l6iledl 2 M6 ?
A. wmor B. spos C. g@argyit D. sewreur

37.Product of two positive number is 34560. The LCM is sixty times of its GCD.
Then the difference of LCM and GCD is
A. 1416 B. 1424 C. 1460 D. 1464
Bm Wens eeidefler GLHBHe0 Levert 34560 oizen 15.0umw. (LCM) syeig oighei
1B.0um.el. (GCD)-a1 60 wLmig erefled 18.0uML., 1B.0UT.6u. 6T alHIWITFID
A. 1416 B. 1424 C. 1460 D. 1464
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\J\—_

L X H - P'TQCQUC(‘ C\)'p F‘\N(\ new.
bow «# - 3 1 bbe

Ht 50 a6 o2 [T

Differare: (4 (b,
38.Find the compound interest on Rs. 31,250 at 8% p.a for 3 years compounded
annually?
A. Rs. 8006 B. Rs. 8106 C. Rs. 8096 D. Rs. 8116

60T (HSH G (H (Lpemm auL 19 SITEDILD (PemBUTed . 31,250-56
e el 8%  eimd ewiled 3 oawiBBEHEGHH @ LB elllg
&HIT6001.

A. em. 8006 B. em. 8106 C. ep. 8096 D. em. 8116

o, |aro~ \88 108 8 A

100 106 IS
2166 ® &4, 8%, dF _ 23q 36b.
s gm s
C.I = 29, ol — 31,35
39.A number is increased by 10% and then decrease by 10%. Find the net decrease
percent.
A. 0% B. 1% C.2% D. 3%

@ eteutemiiesr AL  10% &L Geuewihld  SiFemend — OHTLHS
ohsH  aewienier  wHNImHH  10% GOBHBTO LG BB
G&mBe| FHaIBHmBH SamiBLLY.

A. 0% B.1% C.2% D. 3%

= (06— 10~ ,(_OS: —\7.

” {00

40.In a certain code word ACEG is written, as 16 and DFGH is written as 25 then
how can be written HIKM
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A. 36 B. 41 C. 40 D. 39

@ GUiILL gnBss Guomhuiss ACEG eaeaiug 16 e DFGH eremig) 25
aevia)d GMICIIC U Lred HIKM eremugy

A. 36 B. 41 C. 40 D. 39

A CE &
9 +2+ 5+ = b

o+ +0F 3

41.1f 12 +22 + 22=32
22+ 32+ 62=72
32+ 42 +122=132
then 62+ 72+ 422=?
A. 452 B. 492
C.432 D. 422
12 422 + 22= 32
22+ 32 + 62=72
32+ 42 + 122 = 132 aiefled
62 + 72 + 422=7
A. 452 B. 492
C. 432 D. 422

3(@ = CLX—”])%‘%

2 -~
5 = (-0 >7

Q.
Ans: (3]
42.A certain sum of money amounts to Rs. 20,160 in 5 years at 8% interest. Find the
principal
A. Rs. 14,000 B. Rs. 14,100
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C. Rs. 14,440 D. Rs. 14,400

Qm GUUILL OsTmswraigd dcp eallly aidpsHdHed 5 oenihdeisd (520, 160
DHBSH. DIFMED HT6WIH

A. . 14,000 B. em.14,100
C. . 14,000 D. ¢.14,400

P+ = &

P+ PrBEAT _ g 1bo

160
b 4 3P . Fp  Qotbo
P - @0156%6 - 1y, oo
:qL
43.Range and Range coefficient of the data —3, —2, —1, 0, 1, 2, 3 are respectively
A.0and6 B.6and 0
C.0and 0 D.6and «
-3,-2,-1,0,1,2,3 eatip aleugmisendsrear aiFd oppid aiFsHids a1y (penmGul
A. 0 wBpId 6 B. 6 wmmib 0
C. 0 wBpid 0 D. 6 woBmib o«

RO\)‘\C\’)@ © L-S - 3_(3- 343:6
co. eficiont of QQX\%Q: L -9 3.9

L4 -3

44.Find the unknown number?
20130730082240 ? 28

A.10 B.12
C.16 D. 20
ABUL L 6T60T6N6ITH  BHIT6udT !
20 13 07

30 08 22

40 ? 28
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Q0 (3 = 07
86_ Q- 22
go~: 2%

Arns 1R

45.The diameter of a circle is 10 cm. "P" is the point lying outside the circle. From
that point "P" two tangents are drawn to the circle. The length of each tangent is
12 cm. What is the distance between "P" and the centre of the circle?
A.12 cm B.13 cm
C.15cm D. 10 cm
10 Ga.i8.alLpsien aul L sHHer GaiefBui “P” et Lefell o _oiteng). Ueitefl  “P”
uledpbad QL LSHHBG Drewi®  CSTHCHTBHT  suedFUILILIL (BeiTondl.  @albleuT(H
OHTHCHM 1968 [Sem(pld 12 QF.15. eidiled aul L SHeT mDUISHABGID LeTed “P7 &b
BenL Ul L GHTen6v6 616016017
A. 12 Qg6 B. 13 G&.16
C. 15 Q5.8 D. 10 G&.6

46.Find the average of first 'ri natural numbers

A n(n+1) B. n(n+1)(2n+1)
2 2
c. ! D. n?
2
WHev ‘N’ Buied erewidelest Fymal BHrewid
n(n+1) n(n+1)(2n+1)
A 2 B. 2
n+l
C. 2 D.n2
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1& NOQU = /Vj—————-'

NS 2 -

A

47.A gardener wanted to reward a girl for her good deeds by giving some apples.
He gave 2 apples on the first day, 4 on the second day, 8 on the third day, 16
apples on the fourth day and so on for ten days. How many apples did she get
from the gardener at the end of the tenth day
A.1024 B. 2060

C. 1760 D. 2046

pBueml OFuIs e Fpidedd uflgeids almblll CaHTlLESTT Fev  SuliieTdemern
uflgnes oeMds (PSTUHSTT.  (PHeO HTeT 2 iilelsel @FewiLmb [BTer 4
DLILN6TH6T,  (PeIBTD BTl 8  Slifleiiskell, [HTISTD [BTel 16 i ileTser
aeiomm 10 BT &6T SeHHTT. 10 mHIeT (peled FHApd CQuBBIes Osmemr
QTshs DL ILT6ITSH6IT 6161066, ?

A.1024 B. 2060
C.1760 D. 2046
24 e & - (102G
: 10
g%gg&—;g%» R
N :
= Sh - QG [7)/ — U - 2 [&‘O_D
~ —) Q|

= [ ey 1)
_ Q2 £ 1023~ Qolib

48.Using the clay, Malar makes a cone, a hemisphere and a cylinder have equal
bases and the heights of the cone and a cylinder are equal. They same as the
common radius then find the ratio of their respective volumes
A.1:2:3 B.1:2:4
C.1:2:5 D.1:2:6
©_(HemeT Q&I &0 ULl BE@ID Snibliledl o wih. o (hevenulle o wWysHaHBE

gowrsalb FuisHTer. Ged SeleyuId DUBBET DTHHMBE SFOWTHAD B (HHHT60
BIb(peiislest HeT e BEHHHmL Gl 2 6iTen IS HID HT6evIH

A.1:2:3 B.1:2:4
C.1:2: 5 D.1:2:6
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VOQMM-? Cong Hemisphere Cylinder

L oeth ,&Tﬂg s h
5 3
_ | i
R LR T\74>
Y 3

—%\K@ : %%@ N I (CY)

49.1f A and B can do a work in 6 days. B and C can do it in 12 days, C and A can do
it in 4 days how many days it would take to finish the same work by all the
three together?
A. 8 days B. 4 days
C. 10 days D. 2 days
@ Gouemovenws A upp Bupp Gsfhgn 6 milseieond, Bupp Cupp Gsidg 12
BT &eMeod. Cujido Aujb GaiTdhal 4 BT Selleid (PQUILT 61660 SIAUTHT  cLpaI(HLD
GaidHgl 9I6ICaIMmEVeNUI 616HSHEM6T [BITL H6IM60 (LPIpSHdH EUIGVILD.
D. 8 mm &el B. 4 prsei
C. 10 BT el D. 2 pm e

&[A+ Bac)s (daj wovk s 1

6’—(—’\5 —i‘z—
A1 43 ~§,,\,i
\ i 12 IERRY,
E&+B~@s | doy Work = 1
&%Q“L}_

Lo doy
50.A and B can complete a work individually in 12 days and 18 days. They started
doing the work together but after 4 days A had to leave and B alone completed
the remaining work. The whole work was completed in
A. 30 days B. 20 days
C. 12 days D. 8 days

23 | Page PH: 24339436, 42867555, 9840226187




A, B 8mar @m Geauemevenuws (pedmpBui 12 BT &6l 18 BT Herlled (WIQUILT. 4 [BT6l
Gauemev LMTHH LImg A pHd alpGdmrr. 1885 GCaiemwevenws B L G (pigpdhdmmT
o160lle0  9I6IGAIMEVMW (LP(PUHID (IPI9HD DLGLD [BTL &H61T?

A. 30 BT sei B. 20 mrl el

C. 12 ®r el D. 8 mr el

! }
L\' (AOA?)X \NC‘T‘K - [%f—"@r—“@—’

{{QWMnS Wwovk - By - S dawy,
Ey) o) ';r

Tok) wevk o M 82 [&Otbﬁ%'

51.The Lorenz curve is a measure of

A. poverty B. income inequalities

C. inflation rate D. tax structure

GUTJ 66D GUGM6NT6Y &L 2 66N 616D eSS 2 FHa|b?

A. aumienio B. au@pomenr Fioggiauideenio
C. uewr aisbasid D. aufl aldpmisei

52.Param-Ishan is a

A. Super computer B. Mini computer

C. Micro computer D. Main frame computer
LITLD-@)6roent  6T60TLIGHI  6(Th

A. @OuT senilefl B. el sewflef

C. oowsCym sewflenl D. Qumpsd wemie
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